MARKING SCHEME
CLASS- IX

SCIENCE (2023-24)

o IF-Aeen A R v sw-feg sifaw @@ §1 ¥ gomareas v
wiwfaw §1 afy ohendt & a9 @ewr, feg 3ugEa 3 R §

Y 39 39gFd I+ T Fmd|

e The answer points given in the marking scheme are not final. These
are suggestive and indicative. If the examinee has given different, but

appropriate answers, then he should be given appropriate marks.

Questions

Marks

C) o Col

o

Newton

c) fratarc

kilowatt

{:I,bchch“cIUI ool

Gravitational force

AT

a

Zero

a) Ad R gl I § 9T R, A &I &g <ar@an gl
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Both A and R are true, and R is the correct explanation of

A.

\J

gqel
u=0a=2m/s’> t=3s
v = u +at

> v =0+ 2x3
vV =6 m/s
Here

u=0a=2m/s’ t=3s
v = u + at

(Y2 31)
(Y2 31)

(Yo 31) + (Y2 31 THIT HI)

(Y2 mark)
=> v =0+ 2x3
(Y2 mark)
~v =6 m/s
(2 mark) + (2 mark of unit)
9T (Speed) a9 (Velocity)

fohdl aFd @Rt THiw
HFEATeaTel H ol 15 gl
Y TE] P T FEd &

fpdl a&d carT  UHH
ARl H aF fRar ar=m
AT g F1 T FHgelrdr
gl

2. gg uah 3feer ufr g1 s@d
had gRAOT gar &, feem
sTel |

2.Ig U gieer Ui §1 98
gR&AToT & grg-ary feem o

gicl gl
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3. T qE] $r arer 39 CLSS|

3.f7Rdr g & A FT gRATOT

& JIT & IRHATT & e v
& godl § 3¥ar 399 30
afr|

3H I A AT § AAF AT
gl ghdT|

4. 91l = g /HHAT-RTe

4. 397 = TQTATIA/THATaITS

(IASF & Y2 37h)

Speed

Velocity

The distance travelled by an
object in a unit time interval
is called the speed of an
object.

The displacement done by
an object in a unit time
interval is called the
velocity of the object.

2. This is a scalar quantity.
It has only magnitude, not
direction.

2.This is a vector
quantity. It has magnitude
as well as direction.

3. The speed of an object
can be equal to or greater
than the magnitude of the
velocity of that object.

3.The magnitude of the
velocity of an object
cannot exceed the speed
of that object.

4. Speed = Distance/ time

Interval

4. velocity =
displacement/time interval

(Y2 mark each)

Or
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g AT R UhHAE o § Afaler a&g f afa vnaAre

g atfd Fgereh gl
(1 31)

3CIEI0T- U & soig FT Alh HI M|

(1 3i)
The movement of an object moving by uniform speed on a
circular path is called uniform circular motion.

(1 Mark)
Example- The speed of the tip of the fan blade.
(1 Mark)
Igl 3Mgfa = 100 Hz
+1 Ths H 100 HYT gIaT Bl
(1 3)
~ 60 Hhs H FIT = 100 x 60 =6000 FHYeT G|
(1 3i)
Frequency here = 100 Hz
~ in 1 second there are 100 vibrations.
(1 mark)
=~ vibration in 60 seconds = 100 x 60 = 6000 vibrations.
(1 mark)

frdl a8 & T IRadeT T T 3 W M - 8 &
TThATIIIT Blcl & U1 HaeT H qRacie 387 faem # giar §
g feem & sor oemr Jrar g

(1 37)
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AT TR geTHAT m@rcN-SICITcm F, @87 t d& 3N
ey T 3THRT AT U T FEoIhd v @ 1T gl

de [Qus T YRTEHS T = mu JdT
us &1 3fa7 FIT = mv

A9 IRAdeT & T = m(v-u)/t

'*—I’{o-(jlz> o"i-lt\Cd'i 3? QT% aﬁ_ m ﬁl’éil?r ﬁ,

F o m(v-u)/t
(1 37)
~(v-u)/t=a
ITT F « ma
~ F =K ma
F, m 3R a & #A1% 30 ¥R I A1 § &6 K = 1,
Ad: F = ma
(1 31)

The rate of change of momentum of an object is
proportional to the force exerted on it and the change in
momentum occurs in the same direction as the force
applied.

(1 mark)

Let the force F, exerted on an object of mass m, for time
t, change its velocity from u to v.

Then the initial momentum of the body= mu and
Final momentum of the body= mv,
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rate of momentum change= m(v-u)/t
But by Newton's second law of motion,

F o« m(v-u)/t
(1 mark)
~(v-u)/t=a
i.,e. F « ma
~ F =K ma
The units of F, m and a are chosen as K = 1,
therefore F = ma
(1 mark)

10.

a) oI el 8] W A T oHIel ¥ g6 a&] aof I fqem #
Fo faenfia gl

When an object is displaced by applying a force in the
direction of the force.

(1 mark)
b) FTF X Hr eI Fr ATFT Fgd gl

The rate of doing work is called power.

(1 mark)
c) Fal of df dar Fr ST Fehalr § 3R T & aIs¢ & T Fohal &
98 shadl Teh T U @Y H scoll Sff Hehcll g

Energy can neither be created nor destroyed, it can only
be changed from one form to another.
(1 mark)
Or
acdHAT = 20 kg ,
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gRfAe 39T u = 5 ms™,

fAT AT v = 2 ms™
aN:(_‘IQ Eﬁ- EFR'@EF ?@H 3‘\_0#, K1 =‘|/2|‘nu2 = 1/2X20X(5)2 -
250 J

1 3%
g $r A afdeT Felr , K =1/2mv?=1/2x20%(2) * (= 40 j

(1 3i)
3 R =_r T =
aifast 3ot & aRade = 40 - 250 = - 210 J

(1 3i)
Mass = 20 kg

initial velocity u = 5 ms™,

Final velocity v =2 ms™

Initial kinetic energy of object, K; =1/2mu? = 1/2x20x%(5)* =
250 J

(1 mark)
Final kinetic energy of the object, K, =1/2mv?=1/2x20x(2)?
=40 J

(1 mark)
Hence the work done =

Changes in kinetic energy = 40 - 250 = - 210 J

(1 mark)

11,

a) faeg &1 yd+ N3 37 Ns N U g T IHNT FT &,
St &t TSt & geddAlel & IUEhed & HAGIUC TUT 3eleh!
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S & g & T & SYhARIIAT §icl ¢ Ig I Sl [T Y
Ao arell T@r fr feem & o#rar gl

4
L
Y
A
»
Ve

(2 37)

(1 37)

Each body in the world attracts the other body by a force,
which is proportional to the product of the masses of the
two bodies and inversely proportional to the square of the
distance between them. This force is exerted in the direction
of the line joining the two bodies.

A

< / d X -

(2 marks)
M m

F=G
(1 mark)

(b) IEcarehyuT &M (G) & THYUT &l § ST Shis GeTAT
arell & aE3i & AL fohar &idm &, S i Th-g@l & sh1s
ol W &I gidr Bl

(1 31)

g AT 6.67x107"" Nm?/kg® g
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(1 31)

The gravitational constant (G) is the attractive force that

interacts between two objects with unit masses, which are
present at unit distances from each other.

(1 mark)

lts value is 6.67x107"" Nm?/kg 2
(1 mark)

Or
a)
o fordll o s @l fohdll R oRel # quia: A1 370 Sar
STdT § a9 399 AR H 3TaEr HAT 3T Sy &1 9R Y IJg
AT AT Rz & carr faeaia R & %R & &R g
J

(1 31h)

(i) 3T 39IRT B 3R T & 3fes gdca o iR
A H g Bl
(i) 38 TAeHTd &1 39T leh STglel Td Yeigeal &1 AT
forar SreT &
(iii) gIerdATdY St g¥r & fhdy e dhr YEEAT A ST B H|
(iv) BISZIAICY, ST gdl & Uelcd AU H|

(P an; IAF H 1 3iH)

When a solid body is immersed completely or partially in a
still liquid, there is a virtual decrease in its weight. This
virtual reduction of weight is equal to the weight of the
liquid displaced by the body.
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(1 mark)

(i) It is used to determine the relative density of solids

and gases.

(i) Ships and submarines are built using this principle.

(iii) A lactometer to check the purity of a sample of milk.

(iv) Hydrometer, which measures the density of liquids.

b)

(any two; 1 mark each)

SSTHATT

AR

aE] # 3UTeYd derd H

fohd o #1 9 38 99 &

HATAT &l 3T cTHATA hgl
ST §l

ST g iforad qedr 39
aE P RN HLA Bl

ScTHATST T ATTh fhollae
giar gl

AR &1 AFS =gl gl ¢l

GSIHATST Rl ATl fondl ot
AT R FATT T g

aE] FT R I[EcdlT a0l &
gRadel & HRUT fRead-fAeeT
TATAT W Aea-fAe grar 2

acgHATT Tah 37er T &

9 gfeer Ty gdr g

geg Al &l i Jorr 4
ATIT ST FehdT gl

AT AT F & T
HATACR Tl T FAT FIc
gl

(P15 TAR; YAk P ¥ 3ih)

Mass

Weight
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The amount of matter
present in an object is
called its mass.

The weight of an object
would be equal to that force
from which the earth attracts
that object.

The unit of mass is
kilograms.

The unit of weight is
Newton.

The value of mass
remains the same at any

given place.

The weight of an object
varies from place to place
due to the change of
gravitational acceleration.

Mass is a scalar quantity.

Weight is a vector quantity.

Mass can be measured
by a physical balance.

The spring balance is used
to determine the weight.

(any four; %2 mark each)

12. b) &
Milk

13. d) gl a) 9 b)
Both a) and b)

14. | QETH
Uranium

15. CaC|2
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16. |a) AT R gl AT & dUT R, A &I 9gr <@ gl
Both A and R are true, and R is the correct explanation of
A.

17.

AT fAsor

fawameft fAsmor

s Hifas ¥ & el A
Tel e ST TehdT gl

saer Hifds & & HET A

gTeT ST gehdT gl

gcehl I T & 3TeAdT
Tet forar ST Ghar g

gcehl ol AT & 37c1dT
o ST Tehar g

AR AT & 39Iar i
3T & T8l ¢Tr Sl Hehdl
gl

TawART AT & gIar i
3T & 2WT ST TehdlT g

3eIgiur- Aer fafere,
IFsECOl

3eTeI0T -AeT 31T 7 F1
[GELAEAS]

(@S 2 9SS & 1 3iF)

Homogenous mixture

Heterogeneous mixture

It cannot be physically
divided into parts.

It can be physically
divided into parts.

Components cannot be

easily separated.

Components can be
easily separated.
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The Components of the
homogeneous mixture
cannot be easily seen.

The Components of the
heterogeneous mixture
can be easily seen.

Examples- Sugar solution,
vinegar

Examples - a mixture of
sugar and salt, milk

(any two; 1 mark each)

18.

F4 N (n=4)

%% M (n=3)

\ \ %4 L (n=2)

BN

AVA

\\ \ \ F4 K (n=1)
(] e

BRI 3R@- 1 3%, FIS ar 3R ATATRA; TAd F Y 3H)

\ N shell (n=4)
M shell (n=3)

NN

L shell (n=2)
IRV

R

Nucleus
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Proper diagram- 1 mark, any two proper labelling; -
(Prop g , any prop g;

mark each)
Or
Il GLATY] H geldrelal &l faeror = 2,4
(1 3i)
QIfSTH AT A Foleciall T faeior = 2,8,1
(1 3i)
Distribution of electron in Carbon atom = 2,4
(1 Mark)
Distribution of electron in Sodium atom = 2,8,1
(1 Mark)
19. 27 °C
(1 3i)
300 °C
(1 3i)
210 °C
(1 3i)
20. IO | e G ] gl
Jraer ATCHD AT RUTCHD
GeOHTT 1§18 1§18 IOy
1T GIECHE GIECHE: ATffR & dEY
Hohd p n e
(FS e, Tcdeh &1 1 3ih)
Property | proton neutron electron
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Charge | Positive Zero Negative
Mass 1 Unit 1 Unit Negligible

Location | Inside nucleus Inside nucleus | Outside

Nucleus

Symbol | p n e

(any three; 1 mark each)

21.

(i) T g7 graAnt @ AT 89 &
(il) TRATO] AT FEATH H0T 8l 8 S qq S JfRfRar
#H o a gioid 8l & o & Seferr Ta=er giem &l
(i) foU a0 T & TN WAURBT FT GeTAT T IR
OTIH HAH B B
(iv) ee-ffeet deal & WATBT & geAW Td IS
ToTers Het-foreT gy & |
(v) e-feed dedl & AT RER B qUT T&AT & AT
#F g w i [T =a €
(vi) fordr of TifTeh o qRATIL3T I ATYET HEAT Ud R
fAfRera g &l

(P 9rd, Ycdeh HI 1 37h)
(i) All matter is made up of atoms.
(i) Atoms are the inseparable microscopic particles that are
neither created nor destroyed in a chemical reaction.
(iii) All the atoms of the given element have the same mass
and chemical properties.
(iv) Atoms of different elements have different mass and
chemical properties.
(v) Atoms of different elements combine with each other in
proportion to a small absolute number to form compounds.
(vi) The relative number and type of atoms in any
compound are fixed.
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(any five; 1 mark each)
Or
a)
i) Sfeqas (Calcium), 3T (Oxygen)
(2 mark each)
i) @f3Td (Sodium), @e=T (Carbon), gBalel (Hydrogen),
3iteReTSTe (Oxygen)

(2 mark each)

b)
i) 18 u
(1 31h)
i) 63 u
(1 37h)
22. |c) o
Lysosome
23. hcell
Catlas
24. | @{%
Kharif
25. | 3UTELY] (FIZIATST)
Chondrocytes
26. |d) A 38T § R R a7 ¢l
A is false but R is true.
27. | HUSK @I A 3= T g1l ar YR & gl -
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(i) Sfas FROT (i) 3eifddh HROT
(IS & Y2 37h)
SAfdeh MUR &R dIe, S, hdh, gl TuUT Saw] Gt
IOTAT T TS A § AT 39 doied &l HHA # & ol SHA
3cUTe, §eaT 8 STl g1 383 30T T &THAT S gl STl gl
(FIS TH; ¥ 3iF)

3ae MR W AT 3R a9 T 3791T HHeAT S @I o
1 BET H BHAT 3ceeT & STl gl
(IS Teh; Vo 3eh)
There are two types of loss of storage grain:
(i) Biotic causes (ii) Abiotic causes
(2 marks each)
On biotic levels, pests, rodents, fungi, mites, and bacteria
spoil the quality of crops and reduce their weight. This
makes the product discolored. It reduces the ability to
germinate.
(any one; Y2 marks)
Lack of moisture and heat on an abiotic basis spoils the
crops. Fungus is produced in the crop.
(any one; ¥ marks)
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28.

Plasma
membrane

Centriole

Nuclear
envelope

gh
endoplasmic
reticulum

(Proper diagram- 1 mark, any four proper labelling; 2
mark each)

29.

a) ST 3Td Higdl 9 & dlgdl H doll ol & (dfe:
OTHIOT)

(Y2 3ih)
AR s@fav HIfFHT @FHz ST B

(Y2 3Teh)
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b) ST 3T HigdT § HH Higdl H Tol oITdl g (37
IRTEROT)

(Y2 31)
A sHfAT HFT FoT ST B

(V2 37%)
c) ®Ig gRUTH &i|

(1 37)

a) Water moves from high concentration to low
concentration (exo-osmosis)

(2 mark)
And so the cell shrinks.

(Y2 mark)
b) Water moves from high concentration to low
concentration (endo-osmosis)

(2 mark)
And so the cell swells.

(Y2 mark)
c) No results.

(1 mark)

Or

gt ragedt shfar el radedr sferer
S Tclg GIGU Bl &1 | 38 g Reell gicl 8l
3H W TSI 90 I |89 R USEEH gl g0

gl ST g
SHhI ALT S U | SEH HAET  HE adl
HRVUT I & HRVUT I &

(IAh T 1 37h)
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Rough
Reticulum

Endoplasmic

Smooth Endoplasmic

Reticulum

Its surface is rough.

Its surface is smooth.

Ribosomes are found on | Ribosomes are not found
it. on it.
Its main function is|Its main function is lipid
protein synthesis. synthesis.
(1 Mark each)
30.
a)
aeror | ¥@a 9w | Rf@a  |+ifEE kiC o
afdrar (F€TF)
afrar
1. RITARTT HITARTT | HITAHRIT
PIRIFTHT | 2y oidll, - | oA 3R | %
S delelTeh R Y 3R %@H giar | 31
IR AMER R | €|
WERMGT | ey
gl &l
2. $gh |9 FohT | TR T Shgehld | ¥
shgenld 3
3. gRT | URAT 91 | g URT IS | %
Iciy el 9I5| STl & 37k
STl 1
4dgad | o Jes | 3ecos Y
T T 3%
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5. gy, W 3R |de & 0] 1 31
T hT T élall,
3ETE0T hehlel 31,
AEURET| | FFQTEe
el
Character | Striated Unstriated | Cardiac Mar
Muscles Muscles Muscles ks
1. Shape |Cells are |Cells are Cells are V2
of long long, cylindrical | Mark
cells cylindrical, | spindle and
and shape and | branched.
unbranche | unbranched
d
2. Nucleus | Multi Uni- Uni- Iz
nucleated | nucleated |nucleated | Mark
3. Striation | Striations Striations Striations Iz
are are are Mark
present. absent. present.
4. Mode of | Voluntary | Involuntary |Involuntary |72
Mark
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Contraction
5. Example | Hands, Stomach Heart 1
of legs and | wall, Mark
location other intestine,
skeletal Ureter etc.
muscles
b) (i) arSYIHSTT (1 3)
(i) AT T ST Yer (1 37h)
(i) Transpiration (1 mark)
(i) Exchange of gases (1 mark)
Or

a)

RNeFEAT | FlAehBAT | TFATHEBAT | 3F

HITARIT HITARIT HITARIT 1

sifad gt |ahfad gt | AT &Idr &1 |3

d gl

i AR | ;IR e | iR & |1

qcdell gl | Ay B &1 | A @ @1 |3

gl

FRRIART | IRARAAT | TRIRHT | 1

Read euer  |Red ©ue | Rad e 7@) | 3

A& gir | &A g &1 | BT B

gl
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Parenchyma | Collenchyma | Sclerenchyma | Marks

Cells are Cells are Cells 1
alive. alive. are dead. Mark

The cell wall | The cell wall | The cell wall 1

is thin. is thick. is thick. Mark
Intercellular Intercellular | There is no 1
spaces are |spaces are |intercellular Mark
more. less. space.

GRa 3@- 1 37, FIS g 3T AHRA; Tcddh I V2 i)
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Nucleus

,, -K -\{W . Dendrite 3

> Axon ~—
\ {' Nerve ending -\
\ 4 ~
/ ‘}\\
Cell body

(Proper diagram: 1 mark, any two correct labelling; 2
mark each)
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